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3DGD�EDE� LQL�EHULVL� VLPSXODQ�GDQ�VDUDQ�GDUL�SHQXOLV�EHUGDVDUNDQ�SHQHOLWLDQ�

\DQJ�GLODNXNDQ�

9�� 6LPSXODQ

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� WLQJNDW� XVDELOLW\ GDQ�

VHEHUDSD�EDLN�ZHEVLWH�.OLQLN�'HQWLVDUL�EHUGDVDUNDQ�HYDOXDVL�ROHK�SHQJJXQD�

GDQ�HYDOXDWRU�PHQJJXQDNDQ�DWULEXW�XVDELOLW\�GDQ�SULQVLS�KHXULVWLF�HYDOXDWLRQ��

0HWRGH� \DQJ� GLJXQDNDQ� XQWXN� PHQJHYDOXDVL ZHEVLWH .OLQLN� 'HQWLVDUL�

PHQJJXQDNDQ�PHWRGH�KHXULVWLF�HYDOXDWLRQ�

%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ� \DQJ� GLODNXNDQ� GHQJDQ� PHQJHYDOXDVL�

ZHEVLWH�GHQJDQ�SHQJJXQD�GDQ�HYDOXDWRU�\DQJ�EHUGDVDUNDQ�DWULEXW�XVDELOLW\

GDQ�SULQVLS�KHXULVWLF��0DND�GDSDW�GLWDULN�NHVLPSXODQ VHSHUWL GLEDZDK�LQL��

D� (YDOXDVL� \DQJ� GLODNXNDQ� SHQJJXQD� PHQJKDVLONDQ� QLODL� DWULEXW� SDGD�

OHUQDELOLW\�� HIILFLHQF\�� PHPRUDELOLW\�� HUURU�� GDQ� VDWLVIDFWLRQ� PDVLQJ�

PDVLQJ� GLQ\DWDNDQ� GHQJDQ� EDLN� GLNDUHQDNDQ� SHQJJXQD� PXGDK� XQWXN�

PHQJJXQDNDQ�ZHEVLWH�.OLQLN�'HQWLVDUL��SHQJJXQD�PHUDVD�ZHEVLWH�GDSDW�

GLJXQDNDQ�VHFDUD�FHSDW� PXGDK�XQWXN�GLLQJDW��WLQJNDW�HUURU�UHQGDK�GDQ�

SHQJJXQD�PHUDVD�SXDV��0DND�GDUL�LWX�WLQJNDW�XVDELOLW\�\DQJ�GLKDVLONDQ�

GLQ\DWDNDQ�VXGDK�EDLN�

E� (YDOXDVL� \DQJ� GLODNXNDQ� GHQJDQ� HYDOXDWRU� EHUGDVDUNDQ� SULQVLS�

QDYLJDWLRQ�DQG�LQIRUPDWLRQ�DUFKLFWXUH��WUXVW�DQG�FUHGLELOLW\�GDQ�ZULWLQJ�

DQG�FRQWHQW�TXDOLW\�GHQJDQ�KDVLO�\DQJ�VDQJDW�EDLN�GLPDQD�EHUGDVDUNDQ�

HYDOXDVL� HYDOXDWRU�PHQ\DWDNDQ� EDKZD�ZHEVLWH�.OLQLN�'HQWLVDUL� VXGDK�

PHQJLNXWL� NDLGDK� XVDELOLW\� GDQ� WLGDN� SHUOX� GLSHUEDLNL� -LND� VHEXDK�

ZHEVLWH� GLSHUFD\D� GDQ� GLDNXL� WLQJNDW� NUHGLELOLWDVQ\D� PDND� ZHEVLWH�

WHUVHEXW� GDSDW� GHQJDQ�PXGDK�GLWHULPD�ROHK�SHQJJXQD��QDYLJDWLRQ� DQG�

LQIRUPDWLRQ DUFKLWHFWXUH�\DQJ�EDLN�DNDQ�PHPXGDKNDQ�SHQJJXQD�GDODP�
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SHQFDULDQ� LQIRUPDVL� VHGDQJNDQ� WLQJNDW� ZULWLQJ� DQG� FRQWHQW� TXDOLW\�

PHQDQGDNDQ� EDKZD� WXOLVDQ� GDQ� NRQWHQ� \DQJ� GLVDMLNDQ� � SDGD� ZHEVLWH�

.OLQLN�'HQWLVDUL�VXGDK�VHVXDL�GHQJDQ�VWDQGDU�\DQJ�DGD��:HEVLWH�.OLQLN�

'HQWLVDUL� EHOXP�PHPHQXKL� NDLGDK� KHXULVWLF� SDGD� SULQVLS� KRPH� SDJH��

IRUPV�DQG�GDWD�HQWU\��SDJH�OD\RXW DQG�YLVXDO�GHVLJQ��GDQ�VHDUFK� 0DND�

GDUL�LWX�SHUOX�SHUEDLNL�

F� +DVLO� \DQJ� GLGDSDWNDQ� EHUGDVDUNDQ� HYDOXDVL� SHQJJXQD� \DLWX� GLPDQD�

SHUVHQWDVH� WHUWLQJJL� GLGDSDWNDQ� GDUL� DWULEXW� PHPRUDELOLW\� GHQJDQ�

SHUVHUQWDVH� VHEHVDU� ������ GLPDQD� GDODP� KDO� LQL� SHQJJXQD� WHUEXNWL

LQIRUPDVL�\DQJ�GLVDMLNDQ�PXGDK�XQWXN�GLLQJDW�GDQ�SHUVHQWDVH�WHUHQGDK�

GLGDSDWNDQ�SDGD�DWULEXW�VDWLVIDFWLRQ���� GLPDQD�WLQJNDW�NHSXDVDDQ�SDGD�

SHQJJXQD�PDVLK�UHQGDK�PDND�GDUL�LWX�SHUOX�GLWLQJNDWNDQ��+DVLO�HYDOXDVL�

\DQJ�GLGDSDWNDQ�GDUL�HYDOXDWRU�EHUGDVDUNDQ�SULQVLS�KHXULVWLF�\DLWX�KDVLO

WHUWLQJJL�SDGD�ZULWLQJ�DQG�FRQWHQW�TXDOLW\�GLPDQD��WLGDN�DGD�\DQJ�SHUOX�

GLSHUEDLNL�\DQJ�EHUDUWL�WXOLVDQ�GDQ�NRQWHQ�VXGDK�VHVXDL�GHQJDQ�VWDQGDU�

GDQ�KDVLO�WHUHQGDK�SDGD�SULQVLS�VHDUFK�GLPDQD�QLODL����OHELK�EDQ\DN�\DQJ�

EHUDUWL�KDUXV�GLSHUEDLNL�GLPDQD�NHWLND�SHQJJXQD�PHQJJXQDNDQ�ZHEVLWH�

.OLQLN� 'HQWLVDUL� WLGDN� GLEHULNDQ� EDQWXDQ�EDQWXDQ� XQWXN� PHQGDSDWNDQ�

KDVLO�\DQJ�GLLQJLQNDQ�

9�� 6DUDQ

%HULNXW� LQL� PHUXSDNDQ� VDUDQ� WHUNDLW� GHQJDQ� SHQHOLWLDQ� � LQL� XQWXN�

SHQHOLWLDQ�VHODQMXWQ\D�GDQ�SHQJHPEDQJ�

D� %DJL� SDUD� SHQHOLWL� VHODQMXWQ\D� ODNXNDQ� GHQJDQ� DWULEXW� XVDELOLW\� \DQJ�

EXNDQ�EHUGDVDUNDQ�GDUL�DWULEXW�QLHOVHQ��PLVDOQ\D�VHSHUWL�,62

E� %DJL� SDUD� SHQHOLWL� VHODQMXWQ\D� ODNXNDQ� SHQHOLWLDQ� KHXULVWLF� HYDOXDWLRQ�

GHQJDQ�PHQJJXQDNDQ�VDYHULW\�UDWLQJV GDUL�1LHOVHQ�

F� %DJL�SDUD�SHQHOLWL�VHODQMXWQ\D�ELVD�PHODNXNDQ�HYDOXDVL�XVDELOLW\�GHQJDQ�

PHQJJXQDNDQ�XVDELOLW\�PHWKRG�\DQJ�ODLQ�


